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Question Number : 1 Question Id : 198236101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which one of the following is non-probability sampling :
Options:

) Snowhall



Random
2
3 Cluster

4 Stratified

Question Number : 2 Question Id : 198236102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

"A systematic step-by-step procedure following logical process of reasoning" is called :

Options:

1 Experiment

5 Scientific method

2 Observation

4 Deduction

Question Number : 3 Question Id : 198236103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

"Reasoning from general to particular” is called :

Options:

) Induction

5 Observation

3 Deduction

4 Experience

Question Number : 4 Question Id : 198236104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Example of fact finding study is :

Options:



Pure research
Survey
2 Action research

, Longterm research

Question Number : 5 Question Id : 198236105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Which of the following is an example of primary data ?

Options:

L Book

o Journal
Interview
3

4 Census report

Question Number : 6 Question Id : 198236106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

A Hypothesis which develops while planning the research is :

Options:

, Null Hypothesis

5 Descriptive Hypothesis

3 Relational Hypothesis

4 Working Hypothesis

Question Number : 7 Question Id : 198236107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



Hypothesis testing is not required in case of :

Options:
. Descriptive research design

5 Experimental Design

5 Ex-post facto Design

4 Ex-post facto

Question Number : 8 Question Id : 198236108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

The value of the variable for a particular individual is called as :

Options:

) Variate

o Diata

2 Sample

4 Variable

Question Number : 9 Question Id : 198236109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

The acceptable probability level for accuracy of agricultural field experiments is :

Options:
; 001

Question Number : 10 Question Id : 198236110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1



ouestion Label : Multiple Choice Question

The minimum degree of freedom required to detect the given difference at 5% level of
significance is :
Options:

; 20

15

Question Number : 11 Question Id : 198236111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The error degree of freedom in randomized complete block design with 10 treatments
and 4 replications will be :

Options:

N 40

36

30

Question Number : 12 Question Id : 198236112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The design suited for factorial experiments involving two factors and both requiring
larger plots is :
Options:

; CRD

o RBD

Split Plot

4 Strip Plot



Question Number : 13 Question Id : 198236113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

For the data following binominal distribution and expressed in decimal or percentage, the
transformation to be used is :

Options:

) Square root

- Logarithmic

3 Arcsine

4 No transformation

Question Number : 14 Question Id : 198236114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

In factorial experiments, if there are n factors and p levels, it is designated as

Options:
n
1. P

P
o n

- Both p" &’

4 NP

Question Number : 15 Question Id : 198236115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Reduction in the experimental error with heterogenous material requires :

Options:

i More replications

> Use of randomization

- Use of local control technique

4, More replications and use of local control technique



Question Number : 16 Question Id : 198236116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

PERT 15 :
Options:
i Event oriented

- Activity oriented

5 Programme oriented

4 Plan oriented

Question Number : 17 Question Id : 198236117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

The distance between first quartile and third quartile indicates a range of measurement :

Options:

) 50% of the items

25% of the items

60% of the items

t

75% of the items

N

Question Number : 18 Question Id : 198236118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Mean deviation is minimum when deviations are taken from :
Options:

1 mean

o median

2 mode

ZETO



Question Number : 19 Question Id : 198236119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Stratified sampling comes under the category of :

Options:
) unrestricted sampling

- Subjective sampling
urposive sampling
z Purp pling

4 restricted sampling

Question Number : 20 Question Id : 198236120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Zuestion Label : Multiple Choice Question

The test was given twice to the same group. The coefficient of correlation between the
scores of the two administrations was 0.90. The association refers to :

Options:
. Reliability

o Validity

5 both reliability and validity

not related to reliability and validity

Question Number : 21 Question Id : 198236121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Ratio measurement has :
Options:

) Absolute zero

5 Arbitrary zero

Mo zero
=3



4 Infinity

Question Number : 22 Question Id : 198236122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The data obtained through ordinal scale is best suited for :

Options:
. parametric tests

5 non pﬂI‘ﬂEHEU‘iC tests

2 parametric and non parametric tests

4 higher order mathematical tests

Question Number : 23 Question Id : 198236123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

In case of split-plot, the accuracy of estimates after confounding in sub-plots increases
for :

Options:

) main plot treatments

- dll sub-plot treatments

5 all sub-plot treatments except those confounded

4 no treatment

Question Number : 24 Question Id : 198236124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Important characteristics of correlation are :

Options:

) magnitude, direction and significance

- Mmagnitude and direction



3 direction only

, magnitude only

Question Number : 25 Question Id : 198236125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

The main technical function of Research Design is to control variance through :

Options:
. MAXIMINCON principles

5 Minimizing error of measurement

5 Controlling variance of unwanted variables

, Maximizing variance of variables

Question Number : 26 Question Id : 198236126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Agropedia was launched as a part of :

Options:

) NATP project

5 NAIP Project

3 IVLP Project

4 ATMA project

Question Number : 27 Question Id : 198236127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which one of the following represents the best estimate of the population mean ?

Options:

; The sample means



5 The mean of several sample means

= The mode of several sample means

4 The median of several sample means

Question Number : 28 Question Id : 198236128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

If you draw 100 samples from a population and plot all their means as a frequency
histogram, then you have a :

Options:
1 Mean distribution

o Skewed distribution

5 Sampling distribution

4 Binomial Distribution

Question Number : 29 Question Id : 198236129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

If you obtain a one-tailed p-value of 0.02 then the equivalent two-tailed p-value is :

Options:

N 0.01

> 0.04

.
3 0.02

4 0.4

Question Number : 30 Question Id : 198236130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

The probability that an effect has arisen due to sampling error given that the null
hypothesis is true is :

Options:



. Negligible

Question Number : 31 Question Id : 198236131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

If you have a correlation coefficient of 0.4, how much variance is left unexplained ?

Options:
16%
1.

5 409

o 84%

o5
4 A%

Question Number : 32 Question Id : 198236132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

All other things being equal

Options:

) The more sample size increases, the more power decreases

- The more sample size decreases, the more power increases

5 Sample size has no relationship to power

4 The more sample size increases, the more indeterminate the power

Question Number : 33 Question Id : 198236133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

The value of %~ will always be :



Options:

i Positive

Negative

-2

High

Zero

Question Number : 34 Question Id : 198236134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

A population consisting of the results of the conceptually repeated trials is known as :

Options:

) finite population

5 infinite population
5 hypothetical population

4 real population

Question Number : 35 Question Id : 198236135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Formula for standard error of sample mean X based on sample size 'n' having variance

52, when population consisted of N items is :

Options:
1 Srr
VAT
2 5*"'E
4 i

Question Number : 36 Question Id : 198236136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

A Population was divided into clusters and it was found that within cluster variation was
less than the variation between clusters. If a sample of units was drawn from each cluster,
the sampling procedure used was :
Options:
multistage sampling

=

cluster sampling

P2

stratified sampling

i

simple random sampling

e

Question Number : 37 Question Id : 198236137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

In a perfectly symmetrical distribution :

Options:

) the values of mean, median and mode are identical

- Mmean is greater than mode

- Mmedian is greater than mode

4 median is greater than mean

Question Number : 38 Question Id : 198236138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The significance of simple correlation coefficient can be tested by :

Options:
1 Utest

5 F test

5 Chi-Square test

4 'z test

Question Number : 39 Question Id : 198236139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion

If in a split plot design A at 5 levels is allocated in main-plots and B in 4 levels in sub-
plots and the treatments have 3 replications, then the sub-plot error degree of freedom
will be :

Options:

1 20

> 12

=, 30

4 18

Question Number : 40 Question Id : 198236140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

The degrees of freedom for %~ in case of dichotomized frequencies are :

Options:
0
1.
|
2.
3. -
4
4
Areq Concerned
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Question Number : 41 Question Id : 198236141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question
The edible portion of cucumber is :
Options:

, Fleshy receptacle

Placentae
2
5 Mesocarp, endocarp and placentae

4 Pericarp and endocarp

Question Number : 42 Question Id : 198236142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which of the following is not a variety of tomato 7

Options:
. Pusa Ruby

o Best of All

Roma
3

4 Pusa Kranti

Question Number : 43 Question Id : 198236143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

The plants bearing male and female flowers on the same plant are called :
Options:

) Monophrodite

o Monoecious

3 Bisexual

, Harmaphrodite



Question Number : 44 Question Id : 198236144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

In cucurbits, the crop which is dioecious in nature is :

Options:
, Bottle gourd

- Pointed gourd

3 Musk melon

4 Sponge gourd

Question Number : 45 Question Id : 198236145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

In onion bolting takes place due to :

Options:

) High temperature

> Low phosphorus

- High potash

4 Deficiency of nitrogen

Question Number : 46 Question Id : 198236146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Chenopodiaceae is the family of :
Options:

N Potato

- Sweel potato

3 Okra

4 Spinach



Question Number : 47 Question Id : 198236147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Wart disease of potato is caused due to:

Options:

] Fungus

5 Virus

3 Bacteria

4 Mycoplasma

Question Number : 48 Question Id : 198236148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Okra cultivar Pusa Sawani is a cross between :

Options:

L Arka Anamika x Pusa Makhmali

5 Pusa Makhmali x IC 1542

3 Arka Abhay x Punjab — 7

, Harbhajan x Varsha Uphar

Question Number : 49 Question Id : 198236149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Single seeded cucurbitaceous vegetable is :
Options:

) Round gourd

- vy gourd

2 Chayote



4 Pointed gourd

Question Number : 50 Question Id : 198236150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Phytic acid, a toxic substance is present in :

Options:
. Leafy Vegetable

» Root Vegetable

Cucurbits
2.

4 Peas and Beans

Question Number : 51 Question Id : 198236151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Photo-thermo insensitive variety of cowpea :
Options:
1 Pusa Rituraj

5 Arka Garima

3 Pusa Dofasli

4 Arka Suman

Question Number : 52 Question Id : 198236152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Question

Arka Mobhini is a variety of capsicum developed through :
Options:

; Introduction

o Selection



5 Mutation breeding

4 Pedigree method

Question Number : 53 Question Id : 198236153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Brinjal variety Vaishali is a cross between :
Options:

, Manjari Gota x Arka Kusumakar

5 Dingras Multiple Purpose x Arka Sheel

Arka Kusumakar x [THR — 3

L]

Pant Samrat x Manjari Gota

Question Number : 54 Question Id : 198236154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Bt. brinjal contains which gene :

Options:
1 Cry lat

> Cry 1 ac

5 Cry lbe

4 Cry 1 ad

Question Number : 55 Question Id : 198236155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

Bitterness in colocasia corms is due to the presence of :
Options:

) Calcium chloride

5 Calcium oxalate



3 Potassium oxalate

4 Calcium corbonate

Question Number : 56 Question Id : 198236156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Which variety of tomato has highest lycopene pigment ?

Options:

i Hissar Arun

o Pusa Sheetal

3 Pusa Rohini

, Pusa Early Dwarf

Question Number : 57 Question Id : 198236157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Most of the French bean cultivars are classified as :

Options:

1 Day neutral

- Long day

3 Short day

4 Intermediate

Question Number : 58 Question Id : 198236158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Ivy gourd is propagated by :

Options:

L Seed



5 Root cutting

3 Tuberous root

4 Leaf

Question Number : 59 Question Id : 198236159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Parent variety of all Delicious group of apple is :

Options:
, Red Spur Delicious

5 Golden Delicious

3 Red Delicious

4 Red Gold

Question Number : 60 Question Id : 198236160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

In litchi, leaf scorching is associated with deficiency of :
Options:

, Phosphorus

5 Potassium

z Calcium

Molybdenum

Question Number : 61 Question Id : 198236161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which is the latest technique in food preservation ?
Options:



Canning
Drying

Freezing

La]

Hurdle technology

s

Question Number : 62 Question Id : 198236162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Vapour heat treatment is used against :

Options:

] Daccus dorsalis

> Musca domestica

3 Apsvylla cistellata

4 Inderbella quadrinotata
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Mango leather is prepared by the method :

Options:
. Addition of sugar

Addition of preservative

.

Addition of salt

L]

Drying
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

In climacteric fruits :



Options:

) There is a burst in CO; evolution just before ripening

- There is a burst in CO, evolution much before ripening
- There is a burst in CO; evolution just after ripening

4 There is a burst in CO; evolution during late ripening period
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Juice content is an index of maturity in :

Options:
1 Mango

o Banana

z Citrus

4 Jack fruit
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Bougainvillea variety Thimma is bud sportof .......... .

Options:

) Archana

5 Maharaja of Mysore

= Rao

4 Mary Palmer
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Cuestion Label - Multiple Choice Question



International Bougainvillea Registration Centre is situated at :

Options:

] [THR, Bangaluru

5 NBRI, Lucknow

- IARL New Delhi

4 [HBT, Palampur

Question Number : 68 Question Id : 198236168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Chemical formula of potassium metabisulphite preservative is :

Options:

N K25:05

5 K2504

2 KSOs

4 K280,
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Predominant organic acid in Avrrhoa carambola is :

Options:

L Mallic acid

5 Titaric acid
5 Oxalic acid

4 Citric acid
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CQuestion Label : Multiple Choice Question
Mango variety Pusa Lalima is a cross between :

Options:
) Amrapali x Sensation

5 Dashehri x Neelum
3 Dashehri x Sensation

, Amrapali x Lal Sundari
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Fruit crops are generally :

Options:
. Homoz ygous and thDgE neous

., Homozygous and heterogeneous
Heterozygous and homogeneous

4 Heterozygous and heterogeneous
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Alstromeria is commonly known as :
Options:

i Calla lily

o Spider lily
2 Peruvian lily

4 Kaifer lily
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The main objective in breeding root-stock is to increase :
Options:
, Vigorous growth

5 Lodging resistant

3 Root biomass

4 Tolerance to biotic and abiotic stresses
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

In northern India flower bud differentiation in shoot of mango takes place during :

Options:
January - March

5 October - December
= April - June

4 June - August
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Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Mrig bahar in guava occurs during :

Options:
. June - July flowering

- February - March flowering

5 September - October flowering

, November - December flowering
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

What is the basic (x) chromosome number of guava ?

Options:
L 44

33

22
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Requirement of low temperature to induce flowering in temperate fruit crops is termed
as :

Options:

, Vernalization

5 Scarification
3 Stratification

4, Photo-periodism
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Removal of the back and phloem tissues from a stem is called :
Options:

, Grafting

o Inarching

z Etiolation



4 Girdling
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is an aggregate fruit ?

Options:

. Fig

o Papaya
- Custard apple

4 Bread fruit
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

A condition in which the internodes get shortened and the leaves have a clustered
appearance is termed as :

Options:

i Rouging

- Rosetting

3 Ringing

4 Resting
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

'Arrak’ is a liquor prepared from :
Options:

) Avocado

Pear
2



= Coconut

4 Date palm
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Fruit becomes soft due to break down of :

Options:
1 Pectin

o Sugar

= Starch

4 Pigment
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

During ripening of fruits the activity of hydrolytic enzymes :

Options:

1 Decreases

5 Increases

5 Remain unchanged

4 No definite
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Group of fruits which show neither rise in respiration nor associated with production of
ethylene during ripening process are called :
Options:

1 Climacteric



- Parthenocarpic

3 MNon-climacteric

4 Parthenogentic
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

The practice of removing banana pseudo stem after harvesting fruit is termed :

Options:
. Mulching

- Leaching

= Layering

4 Mattocking
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which of the following cut rose variety is good for protected cultivation ?

Options:
. Gruss-en-Tepliz

5 Grand Gala

= Jawahar

4 Bahadur
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Zantedeschia is commonly known as :

Options:



Spider lily

Sword lily

2

Calla lily

La]

Peruvian lily
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the following is highly fragrant flower ?

Options:

i Freesia

o Gladiolus

. Chrysanthemum

4 Zinnia
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

In which colour cyandin anthocyanidin pigment is present ?

Options:
N Pink

o Bluish-Red

2 Yellow

4 Black
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Juestion Label - Multiple CThoice Cuestion

Which of following species of marigold is tetraploid?



Options:

i Tagetes erecta

Tagetes tenufolia

-2

3 Tageres lucida

Tagetes patula

e
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following orchid is sympodial ?

Options:

N Vanda

5 Dendrobium

 Phalaenopsis

Arachnis
4.
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Bull Head is a physiological disorder of ............

Options:

N Rose

5 Gladiolus

2 Gerbera

4 Gloriosa
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Cuestion Label - Multiple Choice Question



Calayx splitting is a physiological disorderof .............

Options:

L Gladiolus

5 Rose

3 Carnation

4 Chrysanthemum
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Cuestion Label : Multiple Choice Question

A. P. J. Abdul Kalam is a variety of :

Options:

) Gladiolus

5 Rose

Crossandra

4 Antirrhinum
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Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Question
Which of the following species of gerbera is under cultivation ?
Options:
1 Gerbera jamesonii

5 Gerbera aurantiaca

5 Gerbera piloselloides

4 Gerbera ambigua
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ouestion Label : Multiple Choice Question
Which of the following is most serious disease of gladiolus ?

Options:

i Neck rot

o Storage rot

3 Flower rot

o
4 Wilt
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

"Tip burn' physiological disorder of gladiolus caused by ..............

Options:
i [AA movement

5 Atmospheric fluorides
- Excess potassium fertilizer

4 High temperature
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Cuestion Label - Multiple Choice Question

'Arka Aradhna' is a variety of :
Options:
1 Jasminum sambac

5 Jasminum grandiflorum

Z Jasminum auricularum

4 Jasminum PHI}‘{’_’E’{'FH.’S‘
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Nelumbo nucifera commonly known as :

Options:
Indian [otus

o American lotus

5 Caspian lotus

4 Chinese lotus
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Cuestion Label - Multiple Choice Cuestion

Which species of Tageres is grown for extraction of oil ?
Options:

i Tagetes lucida

5 Tagetes psvilla

3 Tagetes petula

4 Tagetes minuta



